Cross Math Boxes

The Cross Math boxes must contain all the digits 1 to 16, so that all the
equations are true. Some of the digits are already filled in.

1| - _ + 14| 8
X - X _

+1 2| x ~ 11|14
- T T -

+ x - 21
- - - -
15| % [10] + +1 7 173
121 18] |21 5

9 | — — | 1|+ 13|11
x x + +

X | 7| — — 49
+ + x +

X + | 11| — 41
15| + — =14 (|17
71 67 40 18
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Answers

The Cross Math boxes must contain all the digits 1 to 16, so that all the
equations are true. Some of the digits are already filled in.

1| —|4|=|3]|+[14]]8
X - X _
91+ 12| x|8|—|11]|]14
_ + + _
121 =16 | x|13]—|5]]21
+ - - +
15 x 10|+ |16+ |7 [|173
12 18 21 5
Ol— 110 =] 1]+ ]13]|]11
X X + +
1 x| 7|1 —=151—-121/49
+ - X +
14 <13+ ]11|—|12]]41

15|+ 6| —|16]=]4 |17

71 67 40 18
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